EARAROBEEIERT — 2 N— IBISH —F 20185118240 (+) SHER7H

Il S ZREE 3% KEF (BL) &8 [xwlw | mEmml - w5 oo 8
[A&4£)] 1 7% :7,800,000 @ 23 :3,100,000 @ 3 3 :2,000,000 @ 4 3 :1,200,000 @ 5 j&:780,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
5 122, -1-1- . — EERE (ER)
il5lg|ama—xLT7 #o4| B i A I VS e
L:OA-J X124 B:74>71—> il SEEA
2 0| F—axs 3> [B] H 6 Gﬁé%uéﬁ 3:(%).0 6-7-7-5 [13.6 — | 4 (4_7;) %ﬁ?ﬁg (=)
L:F1—=TZAHA B:TLIvXx—)b LS
A \ LUZAEES 124, 22— . — AL (3EH)
3l 7| 1oxUF—vy it 3 i 3(32/12)1 2-2-2-2 | 13.6 9 (4_5;6) gm"}é
L:dr—3U7> B:I-Y2T50F+1 A
s S . o6 | ABEFIIR 3:24.1 12-12-10-7 | 13.6 | — 2 488 | BER (Eil)
4|11 | IN=T—T1T> 60.0 (7€) (o) | B0 YGGH—255T
Riv—~NF2HYLF— B:TN-FFUZ kit
= REREX 124. —3-2— . — g (FE®R)
6l I1EI TN 5 paR (31214/43) 3-32-2 | 13.6 3 <4+746) o EE
Rk ivH/kwF BiA-bFa IY-X 27 a4
o= oc £ 6 | AHER— 3:24.4 6-7-4-4 | 13.6| — 6 478 | REEE (i)
6 610)&77,4\/fﬁb - 60.0 (1/2) +2) (%) /v<w>F4—H5TL vy KR
RiwYULETyk By UFEI A BEZ %Y K
N o4 | ERAHE 3:25.0 1-7-7-6 [13.7] — 13 | 462 |PRKRE (BR)
12| A—L VT 1 75— * 60.0 31/2) (1) | @) O—LiL—s2y
LNNVTTY BN ITT—R al=sbae]
o= s =t IHES 128, ~5-10- . — EGELNES:)
AELEE = 3 wa (37€f8#1) 5-5-10-8 | 13.9 12 :213) L
L:O-T>F)> B:3IY Nz — ERFEKS
ot : -11-10- - Ak
5| FLTXINNEY X 44 é%ﬁ)ﬁ 3.(238).6 9-11-10-9 | 13.9 10 | 484 ;;ﬁéi? (ER)
LiARERY E:ZROLTVULAL O =
S p S N N E 2PN :30. —-13-13- . — AL (EE
NPZIAPEY 4 3 i (1340*;?) 13-13-13-10| 14.0 14 (4+526) ;%q:g
:ErFAOvY B:YFNa EX ES-2ie)
s 4 | AR 3:35.1 14-14-14-11| 14.3 | — 11 166 | BIEHEE (EH)
9 2y JR—A g 60.0 (24 4) (+10) (B) EvILy RT77—4
LTYYSTy R Bid-KU—7 EvILyE77-4
2 5 3 | KIIE=E = 3-3-7 = = 7 524 | KIAREE (EH)
w711 SYFF TR R (shik) (a) |
oNd BinrThra—b fwiCie
A N EBAEMY _ 7 _ — FHEEX (E#H)
R:2F7F4d—I K B:T7aty b HET77— L4
R . REEE _ £ _ — (=204 - MES))
xx| 8(14| ¥ 3 vF2UT o 58.0 (k) o s (:?g) EREH
R:xA1=_G7—X B:oavr>IT4> L7HhIT77—L4L
@ 21 L
£y 50.7-37.4
ngraAq L
® I—F—@EBIERL
|S=7r= (x8,7) (6,11)-4(10,2,14) (5,13) 12=1=3=9
Aol=5"= (x8,7) (6,11)-(4,14) (10,2,13,12)5-1=3=9
30—+ — |[8-(6,7)-10(14,13)-(11,2,12)-(4,1,5)=3=9
Mal=5r= 8-(6,7)-10=2,12-1-4-5=3=9  11,13,14
[ RN
B Op 8 300M 794K 2-8 490/ & 2-5 1,130/ &R 2-7-8 7,110
BB 8 150 7-8 1,270H B E 2-8 1,2108 EE 8-2-7 22,140
2 230M 2-7 1,630H B H 8-2 1,850
7 500

ABICOVWTRDTEEERROODE. TR LIV,



